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40

120

Yes
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Generalised conclusion on the basis of a sample 1s technically known as :

TF A94 & AT 97 AOFT W TG B H AT Sl £

Options :
Statistical inference

O3 ery
L MAAHE R

Descriptive statistic
JUATOE ATRST

2. %

Data analysis and interpretation

3 % BET [O9eEor 27T ST

All of the three

, w A E T
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Question Label : Multiple Choice Question

The pmmm] of asking pre- meditated questions in instruments of data LD[]E(‘HD[I is:
HOF TAAE F ITEION T TI-TUEEET 959 TEA H U 2

Options :

Structured

= RUEF

1.¢

Unstructured
5 % A

Free-rein

-3

3. %

Systematic

g, % AT
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
AN FHEE T-AIRA § AT

Options :

H1gh in replicability but low in internal valdity

| gferprd O 3=d aifhd A Juar O &g

H1gh in mterml validity but low in reliability
HAMGF TOA O F=F AR [AeaE=EaT © g

H1gh mem]ﬂmd] validity but lcm in external validity
i Jaar T 3= @fEA 9= Jgar O &g




MNone of the three

Lo A H T A
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Question Label : Multiple Choice Question

Testing hypothesisis a......... .
Ti{hed=T T & |

Options :

Inferential statistics
ATHANE AT

1. ¢

Descriptive statistics
w TUHATEE HJIRAH]

2.

Data preparation
3 % HOFH FH A=A

Data analysis
j w THE T e
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Question Label : Multiple Choice Question
Inductive logic proceeds from :
ANMOATG S 7% FATAL =061 2 ¢
Options :

General to General

O O

1. %

Particular to General
5 [@Eg F A



General to Particular
5 s AT H s

Particular to Particular
4 % TEET H T
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents i1s known as :

TEIRTETAT B T T U7 ST Oia=ET SR R =3 SAET 2
Options :

Convenience Sampling
EIERIIGERE

1. %

Snowball Sampling

AT Ofa=4
2. %

Cluster Sampling
5 % TUE AR

Stratified Sampling
PR S MER IR

4.
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Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research 7

HAMGH OhE T Aesel F O9G B Deuer hE sie #H ST 29

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all



candidates.

Options :
Descriptive Research
AU F ST

Fundamental Research
o TEE STH

Pure Research
SESTH

Casual Research

4 FEUCOH T
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Likert scaling is based on :

oThe JOMET SJTEnd &

Options :

Item-wiseﬁscule
| Te-F0 IO =4 T

Summative scale
AEOF TOH T7

Retlective scale
Ao o TT

Formative scale

4 % O IO O%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : )
UF 9T TOoEr ORG99 sy #JuEr & o 3uge Eer g, fEEd

=

ATOTT4T =Fangs ®ER 99 &= 5y AET 2o

(a) The means of obtaining information
AT AT B B/ AT

(b) The availability and skills of the researcher
SRl i ITareddl AL HIgT

(c) The nature of the problem to be studied
HLIH Bl A Al TOEAT B Ol

(d) The availability of time and money tfor the research work
=1 e A 2 e R T Ll e e EA = A U

Options :

(a), (byand (d)

| % (a), (b) =77 (d)

{a), (b) and (c)
(@), (b) AT (¢)
2. %

ia), (b, (c) atld (d)

3 (a), (b, (c) AT (d)

(b, (c)and (d)

L% (b), (¢) FATT (d)
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SHODHGANGOTRI 15 :
SHODHGANGOTRI %

Options :



Database of articles

or J:j. _-El- .-' o "-j 1.:

Database of thesis & dissertation
g AT AT oy U=y W EEEd

Database of research swmpms
R AT Hw EEE

3.¢¥

Database of experts

423%:%:@%??_1%?
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nef true 7
Aei=h =R TR b A U Mg O F FE AT J8 = ¢

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

In this metlmdi each unit has equal l.,h’mc‘e to be selected.

1 =6 TEId O Uddh 30E & =Fdd BH @ 99 FTHT Sl %I

Each sample has equal chance of selection.
ool Oicesl & =99 H TR JUE S B

It is free from personal prejudices and bias
e FTHE GAEenAT AT 9HaE J Ted =60 2 |

3.

This method is very simple to use
TE T TAN FHIA O FEE AT 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
AT ot TEE (slrE) A FE E

Options :

Latin

French

German
3 % A0+

Italian

= =)
FE ) R,

4o
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

=9 A FI-TT SIEFEVT WA F @9 AT U7 @R B al Jmorer I #l
TEAE B H 0 CHUEl % SAEET W ITAN ®Eal £ 7

Options :

Idiographic Approach
SEAMANSS (THITH) S HIT

Nomothetic Approach
AMOTEEE (FFEFTITE) S hY]

Empirical Approach
5 s FIITTIA SEEH



Pragmatic Approach
% BRI EI RS Al

4.
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain
order :

AAAUE UEA % Hed T, Meligd UiiEed =S99l U HieEe B o
o A E

(A) Conceptualising the research design
ATAGN HATIHTT H AT |

(B) Formulating a research problem
E0 k= IS RREEP = ] T

(C) Selecting a sample
Oicesl T =9 |

(D) Constructing an instrument for data collection
S HUE B 00 HAFHAN HES B i

Which of the following options represents the correct order ?
FTiEd O H -9 [@hed Hel 0 & Jid-idae &l © 7

Options :
1. v/ B, .-‘:"L, D, C

, % B.D.AC

; % BCAD

4.23 B,C,D..“ﬁi
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Question Label : Multiple Choice Question



Impact tactor of a journal is defined as :
fFHT FHe & 09 e (Impact factor) T 29 OFRE TGS TRAT AT E

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received
TE Hel ®O U FJE@ O Ued aeE OEEl O OS09E oiEl O OTEE

It is the yearly average number of citations that articles published in the last four
years in a given journal received
qE T ME Ul O oo =7 a9t O OEnie oeai F angs T

It 1s the vearly average number of citations that articles published in the last two
years in a given journal received
7= 5l 0 T S e © fred o a9 O OEieTd oidl B anus S

It is the vearly average number of citations that articles published in the last five
years in a given journal received
Tz &1 ME OEE O gl 9= gul O OEieE ohEl d andE HAEd

4
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Question Label : Multiple Choice Question

The three basic principles of experimental design are :

TR A1 F a9 Oadgd R =

Options :

Replication, randomization and Substitution
TS, TesOE=s™ Ug T@2iod9-

1. ®

Replication, randomization, and local control
. YERA, Y UIEHe U S Bl




Substitution, replication and local control

A9, TS UF T Frg el

3. %

Substitution, randomization and local control

L% AFEIgs™, EOE=9E Ud dHd Frgld
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Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
S H AIEE IU=EEl H O O Egs F fassiuer AT A

e

Options :

Simple t-test

L% 0T -9

Chi square test
o FZ AT T

F-test

_TTE

Paired sample t-test
Jfe S d-i

- et
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Question Label : Multiple Choice Question

Which of the following 1s nof a method of research ?

Options :



Survey
[EEE

Historical
M GIHIEEE S|

Observation

ST
S EIET

Philosophical

I E il
4, ®

Question Number : 19 Question Id : 50939813441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?
= O F B AT U & SJET 7

Options :

Pie chart

Bar chart
F R EET

Histogram
AT =3

Box plot
g1 =T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

Az-AEY AqETE B T SEET F AT U7 @ g e A1 S
g7

Options :
Applications of the tindings of the research study.
| x ST ST F MGl B SATART F AT U7

Objectives of the research study.
5 o M FIES F I F ATER 0T

Mode of enquiry used in conducting the study.
3 % AFFE T HEEE O ITERT B OAE AR SE F TS OAEE T

Outcome of the research.
4 % ST T OROTH T STER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards
people in wheelchairs. He/She can study their reactions by sitting in a wheelchair
himselt/herselt. Such method of collecting data is known as :

U SNEEal Ee=ET O AT @R & Oid A SAERl & O EAE #i
AE HeAT ARGl | g8 @A EeEAT O ao®e 39 Oiaieere @
HAFA BT AHAT 2| B UFA FAA F I GT B EA TU G OFET @

Er

Options :
Disguised Observation
=T AT TR
% U= A de kA

Participant Observation

2.¢ PIGE R L 7

Non-Participant Observation

3 s TR S

Self Recording Observation
y w T TEEIET e
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Question Label : Multiple Choice Question

Which of the fnl]nmnn 1s are citation/reference style s] 7
MmET O T R SR sAe @iy (&) =2 7

(A) American Physical Association
AGITFA e TATaIs

(B) Modern Linguistic Association
OEA [TIRgE=E THIETSTH

(C)y Oxtord Standard tor the Citation of Language Association
ATFAFE =USE BT T AECsH ATE ovae TEEuET

(D) Vancouver

GE R
Choose the correct answer from the Lnde'a given below :
M=faiad © 3 ®E-A1 981 §E =

Options :

ia), (by, (c)rand (d)

| % (@ (b)) AT (d)

(a), (b) and {c)
5 % (@) (b) AT (c)

(a) m_]d (d)
3 % @FAT)

(d) only
4 TAT (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
UF-TLHT UAET &l IUERET AT A6 2

Options :



Determine whether there is any statistically significant difference between the means

of single independent group before and after intervention .

TE Fuivg ®2ar & % #7 UF Tmag 9g9E O 5EET F usd A7 J.
| % & TT9T (mean) F T FIE HIFABT TETII HT =

Determine whether there are any statistically significant differences between the
medians of two or more mdependent groups

TE Fuied ®ar & T 0 & 91 AGf9® @as Jg9s § el & g

5 % HE AWART =909 F=7 =

Determine whether there are any statistically significant differences between the
means of two or more independemfunre]med groups

TE Faivd Fear & % &0 &1 a7 afas @mad s dq9aad 9981 & OTed
3 o (mean) % 4 FE AfESE gewTyl s & oA A€

Determine whether there are any statistically signiticant ditferences between the
squared means of WO or more mdependent group
Meiftva ®eam & % o &1 ar Aafaw mas AO=] F A 19T (squared

4 % mean) T A" ®IE AARE OETY ST = AT TRl

Question Number : 24 Question Id : 50939813446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Protessor . A. Fisher 7

el e e S TR = 1 1 7 o M 2 -1 e S = s o £ s 1 = gl (N £ -3 £ SO L o
7o Uo fFITT g@rr fiAm o £ 7

(a) Principle of Revision
HeMEIA FI =

iby Principle of Replication
ORI Tl =

(c) Principle of Randomization
"] grﬁ TSRO 1 aEr

(d) Principle of Local Control
A 0 B R

Choose the correct answer from the codes given below :
Hre U T Hs O | HE 39 g

Options :



(a), (b)and (c)
(@), (b) AT (c)
1. %

(a), (b) and (d)

5w @0 AT (d)

by (c)and (d)

4 (byic) T (d)

(a), (c)and (d)

4 % (@), () AT ()
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Question Label : Multiple Choice Question
Read the statements A ’mrl B and choose the correct option :
FT A HT B U% AN HE @EeT =T

Staternent A : Exploratory research studies are also termed as formulative research studies.
FUT A ASTUGREDE 9 ST B ONE ol STora S HET ST R

Statement B : Exploratory research study i1s undertaken with the objective either to explore
an area where little 1s known or to investigate the possibilities of undertaking a particular
research study.

HO B ASUUNOE 9T AOREE H IE9d TRE U =uF O g A
TE® =17 § A5s 9 A=EE I9wed = A7 HE m ded & a1 oo
AT YA B FHAEATET HT TS T 24T 2

Options :
Both the statements are true.
| o SHET FHIT T E |

Both the statements are false.
) % AT FAT FFA E |

Statement A 15 true but B 1s false.
3 % BT A TAA E TET BT £

Statement B 1s true but A is false.
4 % TIT BHAA E kA A T = |
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software 7
M=faiaa O # ®E-4 FJaEs ie-wiaed HiEady =

(a) Urkund
':51;.'1.:;-;_;
by Owerleat

x| R
(c) Turnitin
(d)y Viper

Choose the correct answer from the codes given below :
A= ®U T FE T OH FEN 391 g4
Options :

(a), (b) myj ch

| % ia), (b)) 3T (c)

(a), (byand (d)

5w (@.(b) =17 (d)

(a), (c)and (d)

3 @) 17 (d)

(a) and (c)

4 % @ M7 (c)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-sided depends on :



Options :
alternative hypothesis

3 =TT 1] TioFe
1.« dehlotdch T dnatdl

null and alternate both
I e Ell B A E e |

null hypothesis

- ST IERTTT

either by null or by alternate
4 % AT T S A ORI F
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Question Label : Multiple Choice Question

Which measure of dispersion do not depends on all observations ?

B T B |1 O1T JH] AgErEAl U7 MHT 98 S § 7

Options :
Root mean & square deviation

1wq_5—rrma:r-aq“1'raﬁ1’ﬂﬁ|=r

Mean deviation
5w WA ferga=

Quartile deviation
3 o TOUE HEEEA

Standard deviation
4w TTTE EEERI
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Question Label : Multiple Choice Question



It ris the simple correlation coetticient, the quantity 15 termed as ;
e r JIE ALHGE qOOF T, G O FH A OE T TR AR E

Options :

Coetticient of alienation
[ % TTHIHIOT H oI

Coetticient of variation
[E: o LA Ul 7

2. %

Coefhicient of determination
3 @ @ ZET NN G

Coetficient of non-determination
g s TE-TETOT HT IOE
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A Scattergram is extremely effective :
UF FHog HAoad J9El = o

Options :
to show visually how two vanables are covering
S9EE Bm F oo 56 & =9 &9 o399 =

1. ¢

in organising the scattered footnotes of the research.
5 % SN F feRE Ot w1 i w3 O

in organising the scattered bibliography of the research.
5 s S W AT BT W FE H AT T

in organising the scattered results drawn after the rigorous literature review.
Fol? Hiscd TOET F Je R 0 fewE?d Oemgr 5 #hegd w7 0

4, =
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations 7
TFd O%T & Mg § Humd B eH Tl O AEErEd 87 hA = 1
a% £ 7

Options :

Casval Comparative Research

FIROEOF So-TmE ST
1. % -

Historical Research

TRl 91
2. %

Descriptive Research

3 o AU STreT

Experimental Research
U S
4, ®
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one is called non-probability sampling ?
M=arad O # ®E TE-UTasdl 99499 ®l Al = 7

Options :

CJuota sampling

1. ¢

Cluster sampling
T uiaEE

Systematic sampling
AT /2T U=

Stratified random sampling
= AR E Tia=TH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
0 AR ® O § 997 =7 a1 2@ & 949 58390

Options :

The one that is not 1mmpu]ated and in which any changes are observed
‘ﬁ? ‘—[_"_CI_"T/F'?T"'IE_,-' 51 F FAET AT fHED 9 ger aftgde 95 Joie

The one that is tmmpu]’ﬂed in order to observe any eftects on the other
SECCE BRER SR - £ E -t AR A M I e s e A= b =
AT |

A measure of the extent to which personal values atfect research
TFH U AR Ood STy 1 O9Mad Hid = 39% Oi9h & =9 0
TAFT Thar ST =

An ambiguous concept whose meaning depends on how it 1s defined
U A0 AT OE1 A1 TFal = fAas] A9 39 07 [ Hmear 2

L% 5 39 9 ianus e A
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence 1s known as :

qEAT W Ui ®mE F 0 oieius [GemarEl 9wl @en F O J9E &bl
M= O FAE A 2

Options :

Case series
T AR
#®



Cohort

2.4}7@_{

Case control

3.wﬁ>‘ﬂmzrrr

Experimental
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AN HH H O O, SUshedr i 1 SAgEHT EB =

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Statement of objectives
| FEST W FHEA

Collection or data
T F Hhel

Analysis of data
TAT HT FeTEer

Selection of research tools
AT T FHT FAA

4.

Question Number : 36 Question Id : 50939813458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"»’hnh of the fol]nmnn features are considered as critical in quaht’m\e research 7
FF:T fad o T‘[ F -9 [EeaaE NI B ST & I"I” e ;{”I O AT
E 7

Options :

Collecting data with the help of standardized research tools.
_ OERRT ST T80 & & A=AF o 2ATHS] B Fas0]

Design sampling with probability sample technigues.
5 s WG Q== THAH F TN FE ST 9T B e

Collecting data with bottom- up E]ﬂ]}]f‘lLd] evidence.
3 FEAMT AAEE HJEd & TAET HOATRST B FAE

Gathering data with top-down schematic evidence.
o, HH-UR AAEE A H AR H AEHST F AT
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentitied with Covid-19 positive. Calculate
the prevalence of Covid-19 per [000 pnpu]mml

OF STET O 25000 ==eA O, 105 FNde-19 AFHEES & 919 38 (60 0
1 °fd 1000 FEEE 9 EBITS-19 F AR Bl TOEAT T |

Options :

| % 52

) 4.2
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The tollowing multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

=T H ATIT FE AW GO 0 g w IALE

Export Earnings

1 polished 3 gold

I 'Lil-]"ﬂ['l‘l'!d --—I:_. _Ei‘-"‘l"lli:.!.iL_lrl:".
700 - 660
505
’a B —y
g
% 500 | 486
409 4116
g f— -
B i 348
E‘ I -.o—
N el 270 .
3 ]
=
i 2
e o
1990 1991 1092 1993
Year ——»=

What was average eaming from gold jewellery over 1990 to 1994 7
1990 ¥ 1994 TF #U ATGUY H AT O P 47 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

503.4 Million
| 503.4 Tofer=



501.6 Million
, 5016 EIEPE

500 Million
3 500 foferr=

510 Million
n 510 Tofer==
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

Frfafias 95 91T =1 Ofess S ) 99 & e § e STE Fr oS =
=TE H ATHT FE AT GO M0 U W oI9S

Export Earnings
Polished Diamond vs Gold Jewellery

] polished s wold
! didt]ﬂpd PR _EE‘I"JILIHL_'T:'.'
T = ﬁ_hf:l
505
E B 1
g
ﬁ 500 | 486
8 409
E 358
g oot 270
3 ]
i o
i =
et
100 + l“

990 1991 1992 1993 1994
Year —

In which vear the difference of export earning of two types of jewellery is maximum ?
TFe =9 O o AT9Uel o MFE O @ JeT SAfgEay 97 v

Options :



| o 1994

1993
1991

1992
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Question Label : Multiple Choice Question

Directions ; Study the tollowing table and answer the question given :

Production of different types of scooters in a company

@Sy : Frafaiad Ao & ST9EE HY AT e M UsT @ oFeT &

UF FOA1 O &9 96T & Fped B 3R

Figures in '000

Year Type of scooters
A B c D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 48
1994 | 135 | 30 44 935 83
1995 | 190 | 85 69 | 125 | 115
1996 | 260 | 95 120 | 80 | 120
1997 | 240 | 140 | 161 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the vears ?

1995 T A-TET & FHAl & IARA H FJONAd 099 29F o 3cd1eA
I R A v

Options :

20
1. %



40

Subject & Area Concerned

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

509398163
2

Online
Mandatory
60

60

180

Yes

0

1
509398190
Yes

Question Number : 41 Question Id : 50939813463 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Professional Death Sentence is :
ATANAF THevs &

Options :

Imprisonment for life
| w ATET AT

Erasing of name from the medical register

» o EEEMTSE A FH O A=

Judicial Hanging
3 % ™ REARE

Solitary Imprisonment
5 TR I

4,

Question Number : 42 Question Id : 50939813464 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Mydriasis is commonly found in the T'nl]ciwing poisoning :
EESUEGEE SEIE I Ce R R IR | I -
Options :
Oleander

Dhatura

2. & T

Cannabis

-

3w?=m-m

Dagitalis

4, % TSTICRTE

Question Number : 43 Question Id : 50939813465 Question Type : MCQ Option Shuffling : Yes Is
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Question Label : Multiple Choice Question

Chiet Judicial Magistrate can give sentence to a guilty for imprisonment upto :

O FATAH OiAEee QU B0 He W TAT T HHAT £

Options :

Five Years
| % U T9 TF

Seven Years

2.JFIHEI'CIHTE

One Year

3.331-'.'__-4’75"13’\;!-75

Lite Imprisonment
4 % HATSET HREE




Question Number : 44 Question Id : 50939813466 Question Type : MCQ Option Shuffling : Yes Is
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following 1s called as "Meetha Vish" ?
“rier fagt % 7
Options :
Digitalis

Dhatura
% ATl

Tobacco

- -
[
- -1/

Aconitum

4_¢qa?r|:rrm
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Gustatson's method 15 usetul for deternmnation of :

e e o T 1 fauifta 79 O ITErT £

Race

2uz'r$T

Hand writing

=
kiR [=

3. % ToTEEE



Age
R !
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pinpoint pupils, reduced respiratory rate and bradvcardia are suggestive of
i @ige g, S99 oF § $Ul 0d 5 el ... F Hhd £

Options :

Alcohol poisoning
| w TATHIET O

Organophosphorus poisoning

5 % SAETEERRE qurE

Opioid poisoning
 AreiEe

Oleander poisoning
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Question Label : Multiple Choice Question

Cnmmnneﬂ cause ni Wer]mhesemeph’ﬂnpmhu 15 :
NEEAE ez Mle = et o 7 = e o 5 e =

Options :

Opioid abuse
| % AMUAES 7

Alcohol abuse
ARl ZH




Lead poisoning

Cannabis poisoning

y v TEMEE faeTEE
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Most Common Pattern of Fingerprint is :
MFATie o Ta9 J0 JfaeT & ¢

Options :
Arch
| w T

loop

2. T

Composite

3. H .']i- -1 ! -
Whorl
a
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Question Label : Multiple Choice Question

Brain is preserved in all of the tollowing except :
OFREEE H Ted A= FHid &

Options :
Alkaloid poisoning

L% ATy [auadar O



OPC Poisoning
E':h. .qu -'qu r’qqq\.kl ﬁ

WVolatile Organic poisoning
5w JOASTE ST e o

Heavy metal poisoning
4 HTT =T aardaar 9
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Fatal dose of "Charas” iﬁ ;
TLH B AEE OET £
Options :

2 gram / Kg body weight

1J2?JTET/FF}_4'ITI'ITI'-.§‘,- TR arT

4 grams / Kg body weight
4 IO AFRARTT SIS 917

2. %

6 grams / Kg body weight

5 s OTM/FREETE SIS @Y

10 grams / Kg body weight
4 % 103MH /R STEE 917
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which type of poison is "Cerbera odallam ?
FAEATASADT TF .o GRS NG

Options :



Spinal poison

| TT

Irritant poison

Penpheral poison
3 % TEM fag

Cardiac poison

4.JETW
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Specimen for toxicological studies are preserved in :

e SegA=T & o AgET # HIES R A T

Options :
Alcohol

1 5% -Eqﬂxli-fm -ET

MNormal Saline

5 % TOd Hemed o

0% of Formaldehyde

3 o4 lﬂl":,i, ':I.siar";ﬂi_,-ﬁ_ .‘3'-'='_p' ﬁ

Saturated solution of common salt
4 TTERU 99F% F dgice = O
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Dose of Hema Prashana in the treatment of gara visha is :
T 199 Hl =Fihodl O &9 9159 &1 OFET £

Options :

| Ratni
| w1 T

| Shana
R4 | 7797

| Yava
3 % 17T

| Aksha
g % 18
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

[deal place to record body temperature in dead body is :
B Al P | R R e e | et e M R e 7 e | = 2 | =S

Options :
Mouth

1. ® -2~

Rectum

2. v I

Axilla

3HTEE‘-.-'|T

Groin

4. % T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consumption of Sheetala jala after ghrita paana 1s an example of :
2 e 6 O TR 0 1 O~ ] s M £ ) fremg 1 F@E9 £

Options :
Veerva Viruddha

|y @ R

Parihara Viruddha

_ OfvEr faEsE
2.

Upachara Viruddha

, o TN T

Samyoga Viruddha

4, =
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
"Chanchumalaka yuktani” 1s a feature of :

‘PO FFATT TS H THIT E

Options :
Sarpita Sarpa Damsha
| o AT S

Radita Sarpa Damsha
) w Ted =W

Tundahata Sarpa Damsha

3.wqﬂzﬁﬁfﬂ

Vyalupta Sarpa Damsha

4336111@3@1

Question Number : 57 Question Id : 50939813479 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Rigor mortis starts in

Options :

Heart

Evelids
2. THH

Small Muscls of fingers and toe

3 % B G UT F SATferdl & aiEuieE 3

MNeck
, x A A
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Lynching is a type of :
Options :

Accidental Hanging
| SATHRREES BT

Judicial Hanging
.= Y

Suicidal hanging
3 % ATHEETE BIE E |

Homicidal hanging
OFagy =g FIEl £ |
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The tollowing is considered as "Sparit of salts” :
Options :

Sulphuric acid

1. % S 0TS

Hydrochloric acid

), EESIHINGE UHS

Sodium Hydroxide

3. % TEad ETEgIFaEs

Potassium carbonate
4w TTEETEH FHEET

Question Number : 60 Question Id : 50939813482 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Arsenic poisoning causes all the following except :
T0 F AT AueEar @ @ 98 2
Options :

Raindrop pigmentation

| w TEmT O

Alopecia

2$3rﬁﬁﬁ‘ﬁ:m

Palmar hyperkeratosis

3 % UIHR EEIEHICE



Blue line in gums
4 ol g 29 TR

Question Number : 61 Question Id : 50939813483 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

"Café Coronary” refers to death during meals due to:

“THF BT AE F T BE B9 O] B Swd Hedl B

Options :

Suffocation

| % I H

Choking

2Jaqu=1$r-.ﬂa'€ﬁﬂﬁﬁﬁ

Pulmonary embolism

5 % TEOE UmEifEm A

Cardiac arrest

4 % BA T BHT A

Question Number : 62 Question Id : 50939813484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"Pink disease” occurs in poisoning due to :
Tl IR/ TR TSEHE & femEdT O S £
Options :
Thallium

1.%w



Arsemc

Mercury
4. &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Brush burn is :
a9 T E
Options :

Imprint abrasion

| w THWE OFIE

Grace abrasion

. TS
Zv,ﬂﬂﬂ:!m

Burns

3u~"5’éT

Electric Burn

4 % g @

Question Number : 64 Question Id : 50939813486 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"SATURNISM" is a condition of :

I.._."\- it o ¥y O [ ;_‘\-I_ .
HalHH FEE & o




Options :
Chronic Lead Poisoning

- S 1 Taumerar

Chronic Mercury Poisoning

Chronic Copper Poisoning
EEENIHERGL REEIERE]

Chronic Tin Poisoning
(EEC AN AR M FIE
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Question Label : Multiple Choice Question
Whiplash injury is caused due to:
TaTisT &l @ Heer £
Options :

Blow on head

T U7 =E I

1. %

Acute hypertlexion of the spine

5w 1 T EEI W A EEOTHREET

Acute hyperextension of the spine

3%/,1’1@%%%’1:&%’?1?%5 TR 9T

Fall from a height

| x S @ e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Head and Neck burns in infant constitute . _............... % of burmns :
@ T forg] & T A T&H F W o %o T ST =

Options :

1%324
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Question Label : Multiple Choice Question

Swelling of jaw, loosening of teeth, necrosis of gums and sequestration ot bone in the
mandible are the features of :

TSl W ST, Al B Gl BE, GHS 9T Ui, Adsg O S
FT AT EFAT, T TG TAT T

Options :
Chronic Arsenic poisoning
. EEEAIGEE IEF I EEIE ]

Chronic lead poisoning
y TATHIEE TS [T

Chronic Phosphorus poisoning

3 @ IEEEIREAR AL AR B E I E bl

Chromec Mercury poisoning

4 s TGS OEE faemEEe
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Question Label : Multiple Choice Question
In death due to Starvation, atrophy is seen in all except :
gETil F FEO O O A A5 99 A6 B
Options :

Kidney
1. % IF6 o

Liver

2.$3Wﬁ

Lungs

3 % FEE T

Brain
4  ThEsh o
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Question Label : Multiple Choice Question
"Sui needle” used to kill animals are made of :
TFEAT BT OEA & 0 A OGS W FEIOIE B B, 98 q o
=
Options :
Dhatura seeds

| x T GlE|

Gunja seeds
=T &=
2.9

Jayapala seeds

3waﬂmﬁrﬁhﬁ

Karaveera seeds

4 % =R E "‘jl'ﬂ
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Question Label : Multiple Choice Question

Most common reason for surrogacy is :
HIATH T ATH HO HE E

Options :

Psychological

e h

|, % TACETND

Interlity
o T

Diabetes
3 ®% BHEC

Tube ligation

4 % -.-“3_\"_] TITZATET
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Question Label : Multiple Choice Question

"OPISTHOTONUS" position found in Vishatinduka poisoning refers to
s faueaa o “gmmm” feofy © o
Options :
Forward bending
| x R B TE FHAT

Backward bending

5 o U8 W TTE FTHA

Right lateral bending
3 % < iEg F TTE GEAT



Left lateral bending

4.RE|'FﬁUTSErCﬁrHT'CﬁFW;
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Question Label : Multiple Choice Question

Thin layer Chromatography is not used to:
T =Y IOl & 9AR FE AT S

Options :
Purify

| % %r%_i;‘;iﬂl a'_i

Quantify

Or=T = &e
2.¥ h

Analyze
3 % [SEE =g

Identify
4. F4 '~3:ITH:I¢I " é@
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Question Label : Multiple Choice Question

Rape is defined under :
FATRIT B TN =R 77T 2

Options :
Sec. 351 IPC

| % T 351 2o Ulo Hio O

Sec. 302 IPC
) % HFe 302 Ao Tie Hle O



Sec. 228A IPC
5 ® TFE 228T FEo Wo Hio T

Sec. 375 IPC
4 HFSTH 375 Ao Tle Hio T
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Question Label : Multiple Choice Question

Antidote for strychnine poisoning is

R T2t T o R S 1) = o T | = 7 B [ =S

Options :
Fomepizole

—
ﬁ_. ]:I o *F Il.'"

1. =

Physostigmine

:l.'_':! ;._.I ]:I

Barbiturates

3. TEEICH

Naloxone

4, % TRATFE
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Question Label : Multiple Choice Question

Not punishable under Indian law :
AEF B & d=d 8419 F2] £

Options :
Rape

lurr\r‘h"



Adultery
5 % =TT
Incest

3.

Indecent assault

4 % TIET FAfTHE
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Question Label : Multiple Choice Question

Garlic order in the breath 1s indicative of poisoming with :

g O @eg & T HOAAT AT B HET =
Options :

Cyanide
| % TPIES

Arsenic

2.¥

Carbolic acid
3 % FIEieTs Tas

Mercury

4, % A8
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Question Label : Multiple Choice Question

Not a Probable sign of Pregnancy :

Rl 1 £ i 7 e 0 ) G = = T B =4 =
Options :




Cullen's Sign

1. v T

Braxton-Hick's Sign
dee =0 HEd

2. %

Palmer's sign

3 % e L HIE

Goodell's Sign
4. % o7 TR
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Question Label : Multiple Choice Question

Common toxin through vegetables includes :

HAleAdl & OTe H B 9l JHe A9 B o

Options :

Boric acid

Tartaric acid

Carbolic acid

3 % FIETs TS

Oxalic acid

4 o AT Hfes ofeas
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Question Label : Multiple Choice Question



MTP Act was passed in the Year :
oo E O Aafataag Wiid TRET TET A o

Options :

1991

| w 1991H
1981

5 % 19811
2001

3 % 2000 T
1971

4 o 19718

Question Number : 80 Question Id : 50939813502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Umversal antidote consist of
AFTHT Oad 7497 £

Options :
Copper sulphate

| % FIOL £ [T

Activated charcoal

e -
Ulacdos ==l

Milk
ESl

Egg white

4 % S T gHe fre
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Minimum time of diagnosis for manic illness is :
0T I F A W SIEO0 909 E

Options :

| week
l \/ |. \.I:\.I g_

| month
) w 1O

| Year
3 % 1T9

2 Years
4 % 279
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Question Label : Multiple Choice Question

Dhava Ashwakarnadi yoga is mentioned in the context of :
9T ATTHOME T o, Aeg T gieid = |

Options :

Dooshita Vayu

1 u ‘E’:I N a-FE.-'

Dooshita Jala
R4 AEGEEE

Dooshita Desha
3 % T S

Dooshita Kala

4. % ;:TDH e
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The intake of Dushta Anna or contaminated food may lead to the formation of Visha
Sphota which may be considered similar to :

St H= & H9A H AU wpie & WHe S1OF o [EEERIE]]
S

Options :

Keeta Visha
| % FIT @9

Sarpa Visha

Kanabha Visha
3 ® FUrT a9

Loota Visha
4 GEIRER]
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Question Label : Multiple Choice Question
What is matched for organ transplantation 7

ST gerer & fod g faas G s § 7
Options :
HLA

|« THo Udo To

Blood Group
y w TR A

BEMNA
3 % Ao T O

m DNA

4$3FFEFOEF'IOUFTGFEQ
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Question Label : Multiple Choice Question
"Jayante grnthayaha shopha karnika mandalaani cha” is the teature ot :
“HAE T 9T IR OUBEnT = fag @@= 2
Options :
Shatapadi Visha
| % e fag
Mooshika Visha
2.¢ A\ 199

Alarka Visha
3 % HAoE G

Loota Visha
g w T T
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Question Label : Multiple Choice Question
Dirug not included under NDPS Act :
0 F 0 oF afata § e At 985 E
Options :
Opium
1. % SHH

Hashish

5 % =971eT

Alcohol

Amphetamine

4unmﬁm:{



Question Number : 87 Question Id : 50939813509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sharapunkha Prayoga is mentioned as a treatment in :
SO BT AN T =T O gaEr T4 E

Options :
Alarka Visha
|« A B

Loota Visha
5 s G AW

Mooshika Visha
3 % EIEETREE]

Wrischika Visha
4 % JrP=EHTEE
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Question Label : Multiple Choice Question

Gastric lavage can be done in poisoning with :

TR | e B = B 15 o D £ 5 M o | =

Options :

Carbolic acid

1. e r’.\ Ve L | O

Oxalic acid

5 % FATFATTR 37T O

Sulphuric acid
3. W Hed H_RF.EJ.I HE ﬁ



Acetic acid

4% Ures 37 O
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Question Label : Multiple Choice Question

"Praanaghna" Karma of Visha is due to the following Vishna Guna :
1 E U7 T OO AT R

Options :

Ushna

Teekshna
2. % T

Vyavaayi
3, % AW

Vikasi
L R
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Question Label : Multiple Choice Question

Charcoal hemopertusion is usetul in poisoning with :
EIEEA IS E 5 TETar O 30 2

Options :
Methanol

Salicylate
2 w "-J;n’ !'-\.. Q-: -

[hgoxin

3. % 15T



Barbiturates
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Question Label : Multiple Choice Question

According to Acharya Charaka, "Neeladeenam Tamasascha Darshanam” is found in
which Visha vega :
AREE FTRAAT - SR aoFeE 997 w9 O uEr A | g 7

Options :
2nd
21T
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Question Label : Multiple Choice Question

Cherry red hypostasis in a dead body is suspected of poisoning due to
= AT I AT [EEIE G INEANEE IESE IS

Options :
Carbon nonooxide (CO)

Cyanide
2. % HIFES



Phosphorus

4 % TTERITH
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Question Label : Multiple Choice Question
According to Vriddha Kashyapa-Savisha dravya samyogakrita visha is :
gEHIAT & FATAN AT T FANE 99 = -
Options :
Sthavara Visha
| % T E)

Jangama Visha
) % B EL]

Dooshi Visha
3 o FEINERE)

Gara Visha
L g
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Question Label : Multiple Choice Question
Vitriolage means :
ETEATS W A7 T
Options :

Using vitriol for murder
| % BN T MA@ OEn wE




Throwing Vitriol
R AL IFRIGEEE ]

Perforated stomach after consuming H,50,

3w TEEIEE AR O UsErg A w5 OBET =

Organophosphorus poisoning

4 % AR e
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Question Label : Multiple Choice Question

"Jwara" is a sympton in the samanya lakshana of :

CFITY e g @1 Ao @ 2
Options :
Jangama Visha
| w T fag
Sthavara Visha
) =ET JT
Kupilu Visha
3, % T faw

Gunja Visha
4 % T AT
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Question Label : Multiple Choice Question

Scott test 1s commonly used colour test to detect : i

IO guf TS Ehie T UgA [hAT Sl T

Options :
Cocaine

1M'ﬁrﬂ"’ T TG A T oA



Alcohol

Phenol

3 ® =T /1 997 @ F A

Barbiturates

4 % FEGITH B 9 T F 7T
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Question Label : Multiple Choice Question

Agnmi Karma is done when the poison enters :

Options :
Rasa-Rakta

133?_{7-??43

Twak-Mamsa

9 o R J,a-ﬂﬂ:l

Mamsa-Meda
3 % oH-0%

Twak-Meda
4, % TEIR

o U9l Bl & o9 AN S0 HAET S 2
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Question Label : Multiple Choice Question

Not a feature of botulism :

................ EARSE NS -

Options :



Dysphagia
| % TS O HiEAE

Diplopia

5 % MEREE RS

Dharrhea

Weakness
4 % FOAM]
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Question Label : Multiple Choice Question
Atropine for physostigmine is an example of : i
FEANEROT & o= ogifug ofafayg & 0% 3Ie= § o
Options :

Physical antidote
| % ST

Chemical antidote
5 CAERIE2 '_:| ch

Physiological antidote
3 o ST BRAEras

Chelating agent
4 % [EICIEH meive

Question Number : 100 Question Id : 50939813522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Acute oral toxicity test guideling up & down method 1s

A1 I [auEaar IeEv ReliHesl #0 Uvs B34 Jig =



Options :
OECD 425

| o To Hio Tlo 425

OECD 420
, % o Fo FHlo Flo 420

OECD 423
3 % o Zo Hio o4l

OECD 453
4 % Ao Zo Hio o453



